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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in

ENGLISH. :

Candidate has to attempt FIVE questions in all. _ .
Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted

choosing at least ONE question from each sect:iont | ot
The number of marks carried by a question / part is indicated against it. : |

: ritten in the medium authorized in the Admission (.Tertiﬁcate which must
A’,wwers m’;St Z:letzgncouer of this Question-cum-Answer (QCA) Booklet in the space provided. No
e o bea ers written in a medium other than the authorized one. -

F . or ﬂ.nswers
marks will be given ft cified, should be adhered to.

..o ouestions, wherever spe _ _ '
Ward el d if considered necessary, and indicate the same clearly.

itable data, ‘ . R
Assume suxa tions shall be counted in sequential order. Unless struck off, attempt Iof a question
Attempts of questio .+ attempted partly. Any page or portion of the page left blank in the

ven i,
Eh;::ﬁgi-gzl;zﬁnds;er Booklet must be clearly struck off.
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SECTION A
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Answer the following questions in about 150 words each : 10x55,

(a)

(b)

(c).

(d)
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Explain the difference between ‘needs’, ‘wants’ and ‘demands’. Whicp

one of these is the starting point for marketing ? Do marketers Create

needs ? 1
(
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Tht? statement “build a better mousetrap, the world will beat a path to
their door” communicates the essence of which marketing management

orientation ? -

o i i
Why is this concept not the right approach in a competitive marketing
scenario ? 10
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Smart marketers approach market with an understanding that they

cannot appeal to all customers/buyers. Therefore they adopt the ‘rifle’

approach instead of the ‘shotgun’ approach. Which of the two approaches

is more effective in the contemporary business environment and why ? 10
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Define Human Resource (HR) Audit. Describe the various practices
followed for HR Audit. , | |
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What is meant by ‘vision’, ‘mission’ and ‘objectives’ ? Briefly explain the
nature and characteristics of objectives. | 10
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Q3.

(;:)

(d)

(a)

(b)

'What are the different types
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Briefl i . '
rielly explain the theories of compensation. What are the different

t
d?éi 9:— monetary and non-monetary rewards ? What are the merits and
rits of using non-monetary rewards ? 15

R e T o & freg s
F1 HF dEEq Bl 8 | gore
mﬁ@amﬁmaﬂtmﬁnﬁmm% | w7 B 6 TS F

e =l W wharhaEt @ shnka
TR T s wsar 1 | 0 ¥ i, w0 fagm & 3w 50

Eotnl;ation is a sirr}ple process but the task of motivating is daunting.
erzberg’s theory is based on hygiene and motivator factors. Explain

e ‘the?ry can be used to motivate employees at different levels of
an organisation. S '
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Differentiate between line extension and brand extension strategy. Why

do organisations proliferate markets with different types of product
variations ? : 10
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Explain the economic rationale behind leasing as a mode of financing
capital assets. What are the differences between an operating lease and

a capital lease ?
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Explain the J;elationship'betv_veen tole’ and ‘goal’. Differentiate between

role conflict and role ambiguity. What effects do these have on the

working of the organisation ?
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of skills leaders use in leading ? Discuss thz
_ -1 Jeadership skills become more imporf.ant. and .
m?:ﬂtgu?:oc?iﬂ?:lmeimpoﬂanw, at higher levels of orggnmatlon. 1.5
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weighted) average cost on ending

Contrast the effect of FIFO versus (
value of inventory and pre-tax income (PBT), when

(i)  Prices are rising, and '

(ii) Prices are falling. . : |
Explain how income can be manipulated by the choice of inventory
valuation method. . 10

mm%mmmﬁmawﬁ@wmmm
w0 # | faoe dwor frao F PR AT R 2
Explain how do marketing communications work with the help of basic

communication process. What  are the elements of marketing
- 15

communication mix ? .
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A famous economist wrote that “there is .
. =7 . 18 !
responsibility of business — to use reBOurcegO ];;dmelzgac';yinmzﬁ s:;z:ls

* designed to increase its profits...”, Critically evaluate this statement it

the context of incrf?ﬂﬁ'lﬂi; pressure on business to be socially responsible. #
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ﬁanagenal performance can be judged/measured by w0
etlectiveness and efficiency. Can an organisation or man
efficiency fail ? Explain why.
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What are the primary uses of a standard cost system ° -
between favourable and unfavourable cost (and revenue) variances
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SECTION B
Q5. frerferia Wi @ e T I T 150 regt # T :
Answer the following questions in about 150 wordg each : 10x5=50
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What is the pecking order theory of financing 9 Compare it with the
trade-off theory of capital structure. _
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interest rate 7 How

What is the relationship between bond prices and
does one calculate yield to maturity (YTM) on a bond ? Define discount
bonds, zero coupon bonds and premium bonds. 10
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The India Times reported yesterda,
: y that ABS Ltd.

ﬁd: dzoof crore during the year ending yeste rd:;rgz:ii (prg.(iiit after
menﬁn e;t]: 100 crore during the same period. The paid out a
e ETmeln St M o (AOE) s R s e
foll questions assuming that the firm will mai . er the
dividend payout ratio forever :* maintain the same
(i)  What is the firm’s éarnings g ‘ ' | |

¥ Sy gs growth rate ?

(n) What will next year’s earnings be ?

(fu) What will next year’s dividend be ?

(iv) What is the estimate of market value (market capitalization) of

zation) O

ABS Ltd., if market considers 1
i ; 5% . :
on equity (cost of equity) of ABS Ltda}?s the required rate of return

6 .

(a)
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81/03/2017 ::' ;:ﬁ W e fafy 4 =mET
0 T el ) 90,00,000
o p— 80,00,000
T 1,50,000
- 50,000
WT:?{H::[ 8,00,000
S 3,00,000
5,00,000
Teg o o o
31/03/2017 | 81/03/2016
et 50000| 70,000
T e 90,000 60,000
& e 80,000| 70,000
T AT W 15,000 20000 -
method of preparing statement of

Explain direct method and indirect
cash flows using the following inform

ation pertaining to Ajay Litd :

t and Loss for the year ended 31/03/2017

Statement of Profi
Sales Revenue 190,00,000
Cost of Goods Sold 80,00,000
' Other Expenses 1,50,000
Depreciation Expenses 50,000
Profit Before Tax ‘ 8,00,000
Income TaX Expense _34)0,000
' | 5,00,000
S Net profi Rele{faﬂt Balance Sheet Accounts S
B Tsuoa/ou7| /032008
[ e — 20000| 70,000
ntory |
L e B
Accounts Payable i g
15,000 20,000
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Why does variable costing provide : b SESGHE
absorption costing for decision-making ? Wh*ft are ducti
relationships between absorption and variable costing when _pro 1.1c 0n
volume differs from sales volume ? What causes these relationships to 10

tion than

occur ?

% (a) E‘We%mﬁqﬁﬁ%mmwﬁﬁwﬁﬁ“'@'
F A GG HiEpion A FH § 2 6 SR i SR
FEE & ? I JaTewil b qw @ wE A |
What are the major cultural characteristics which explain differences in
organisational behaviour across cultures according to Hofstede ? Why is
- cultural adaptation important ? Ilustrate with the help of suitable .

examples.
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Compare ‘Net Present. Value’ (NPV) method and ‘Inte
Return’ (IRR) method of evaluating capital inveZ?ments. %cl?i;et;j

two methods is superior and why ? 15
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“When managers act on better logi i ' '
ac gic and evidence, thejr compani i

trump the competition.” Critically analyse thig statement in 31?:;:11::1;1

better with HR analytics ? '
_ 10
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" What is goal displacement ? Bureaucratic organisatio . .
- from goal displacement. Explain using P s ns often suffer “
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(a)
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What i-s the purpose of recording adjusting entries ? Some of the items
for Wh“,:.h. adjusting entries are made at the end of the accounting period
are : : '

) Depreciation expenses

(i) Services provided by the firm for amounts received earlier .
ii) Interest payable on loan outstanding '

@dv) " Rents due but not paid

Staté the adjusting entries for the above implicit transactions. If an
organisation fails to pass adjusting entries for items () to (iv) above,’
| jmpact on «Statement of Profit and Loss’ and on
- o 15
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Al ferq ;sation structures are virtual and network

. rgin organi
Lo "ff tﬁenzme - thgese threats t0 conventional organisations ? Why ? 10
organisations: :

. 1eaders, managers or entrepreneurs for achieving
. od MO :zm hjgh]ighting their differences. 10 °
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“Activity Based Costing (ABC) sy

traditional costing systems.” Do
. overhead assignments ?

stems are always more accUWra” oo
you agree ? HoW does ABC imp 10





